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S, T nat

bool

S->T

e =
0
S
match eq with 0 => ez | S & => e3 end

true

\
\
\
\
| false
| if e; then ey else eg
| funax:T =>e
| fixax (y:8):T :=e€
‘ €] €2
T = e
| T,z:T

= I'kte:T
‘ €1 — €
‘ 61—>*62

O00000D0O00DD natDOO0OOO voolDOODOO S->TO0O0OO0OOO SOODO
o0rgbobobobobobo

gboobobobooboobobbobidd matech OO0 0OOO0O0O0O0OOOOOOOO0
0 if 0000000000 (fun)J0000 (fix) 0000000000
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fix f (x : nat) : nat := f x
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(x:Tel)
_— (T-VAR)
I'x:T
(T-ZERO)
I'~0: nat
(T-Succ)
I' S : nat ->nat
I'tF e; : nat I'kexy: T 'z :natbeg: T
(T-MATCH)
T match e; with 0 => e3 | S => e3 end: T
(T-TRUE)
I' - true : bool
(T-FALSE)
I' - false : bool
I'F e; : bool I'texy: T I'tes: T
(T-IF)
I' - if ey then es else ez : T
'z:Skte:T
(T-Fun)
'Ffun z: 8 =>e: S->T
FLx:S>T, y:Ste: T
(T-F1x)
F'Hfixx (y: 8 :T :=e: S—>T
I'ke : S->T I'key: S
(T-APP)
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(R-MATCHZ)
match O with 0 => ez | S & => e3 end — ey
(R-MATCHS)
match Se; with 0 => ez | S ® => eg[x] end — egleq]

(R-IFT)

if true then e; else e — e;
(R-IFF)

if false then e; else ex — ey
(R-BETA)

(fun = : T => eg[z]) e1 — epleq]
(R-FIx)

(fix @ (y: S) : T := eglx,y]) e1 — ep[fix ¢ (y : S) : T := eglx,y], e1]
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er — €}

(RC-MATcH]1)
match e; with 0 => e3 | S  => e3 end

— match €] with 0 => ez | S  => e3 end

ex — €

(RC-MATCH2)
match e; with 0 => e | S  => e3 end

— match e; with 0 => e, | S  => e3 end

e3 — e}
(RC-MATCH3)

match e; with 0 => e | S  => eg end
— match e; with 0 => ez | S @ => e} end

er — €}

(RC-IF1)
if e; then ey else ez —» if €] then es else e
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ez — €

(RC-IF2)
if e; then ey else e3 — if ey then 6’2 else eg3
ez — e
3 (RC-IF3)
if e; then ey else ez —> if e; then ez else e}
eg — 86
(RC-FuN)
fun  : T => eg — fun = : T => e
eg — e
0 (RC-FIX)
fix ¢ (y:8) : T :=ey—fixx (y:8):T := ¢
e1 — €]
(RC-Appr1)
e1ex — e} ez
ez — €
(RC-AprpP2)

e1 ez — e €
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_— (MR-ZERO)
e —*e
e —ée
m (MR—ONE)
e — ¢ e/ — e’
- (MR-TRANS)
e —* e

1.3 U0b0boogoobobbooooooon

gobooboooboboooboooooboboobooooobooooboobooboUoDO
gbobooboobobooboobooobooboooboobooobooboonoobo
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e if (fun x : nat => ...) then ... else ... 00O00O0O0O0OOOCOOOO
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' H: POO0O0O0OO0ODOOOOOODOO0ODOOODODODO0OOOODODOO
1. H ¢ dom(I")
2. POO0O0O0OOTOOOOOODOOOOOOOFV(P)C dom(T)
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'k P : Prop
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T =
e =
P,Q = €1 T e2

| P->Q

| Ve:T,P
F = .

| I'H:P
J

'+~ P : Prop
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FT||T+ P : Prop|

- (E-EmMPTY)
[ J
FT x & dom (T
|—1E j-T( : (E-vam
T H & dom (T '+ P : Pro
( ¢|_r(13r) - P (E-Asup)
I‘I—elzT F|_61:T (PE)
-EQ
I' - e; =ez : Prop
' P : Prop '~ Q : Prop (P-Tp)
-Imp
'HP->Q : Prop
I'z:THF P : Prop
(P-FORALL)
'-Vx :T,P : Prop
e 00 E-XXXOOODODOOCOOOOOOODODDOODOO
e 00 P-EqUUOOI0O0ODDOCODOOOOOODOODOCODOOOOOOODO
FT (H:Pel)
T p (ASSUMPTION)
I'-Vz : T,Plx] 'Fe:T (VE)
I' - Ple]
'ke:T e —*e
''e=¢€ (=1)
' Se; =Se
I‘I—el—e : (InaS)
1= €2
I'-0=Se I' = P : Prop
(CONTRANAT)
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I' - P[0] I', y :nat, H: Ply| - P[Sy]

(INDNAT)
I' - Vz : nat, P[]
Tkt =fal T'HP:P
rue = false rop (CoNTRABOOL)
'HP
I' - Pltrue] I' - P[false]
(INDBoor)

I' -V : bool, Plx]
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2.3 00O
P.Q :=
| even e
I' - e : nat
(P-EVEN)
I' - even e : Prop
o (Ev-11)
I' - even O
I' - even e
(Ev-12)
I'Feven (S (S e))
I' - P[0] I',x : nat, Hy : even x,H; : Plx] - P[S (S x)] (INDEV)

I' - Vx : nat,even z -> P[x]



